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1. Which cell will measure standard electrode potential of

copper electrode?


(a) 





(b) 



Pt(s)|H2(g, 0.1bar)|H + (aq. , 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu1 + (aq, 2M)∣∣Cu

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_S6deR91dWV4R


(c) 



(d) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 0.1bar)|H + (aq. , 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu1 + (aq, 2M)∣∣Cu

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 1bar)|H + (aq, 1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

Pt(s)|H2(g, 0.1bar)|H + (aq, 0.1M) ∣ ∣∣Cu2 + (aq, 1M)∣∣Cu

https://dl.doubtnut.com/l/_S6deR91dWV4R


2. Electrode potential for  electrode varies according to

the equation 

 


The graph of  is



(a) 


(b) 


Mg

EMg2 + ∣Mg = E
ϴ

Mg2 + ∣Mg
− log

0.059

2

1

[Mg2 + ]

EMg2 + ∣Mgvs log[Mg2 + ]

https://dl.doubtnut.com/l/_S6deR91dWV4R
https://dl.doubtnut.com/l/_8eHHdjbnLD0l


(c) 


(d)

A. 

B. 

C. 

https://dl.doubtnut.com/l/_8eHHdjbnLD0l


D. 

Answer:

Watch Video Solution

3. Which of the following statement is correct?

A.  and  of cell reaction both are extensive

properties

B.  and  of cell reaction both are intensive

properties

Ecell ΔrG

Ecell ΔrG

https://dl.doubtnut.com/l/_8eHHdjbnLD0l
https://dl.doubtnut.com/l/_4Kco86lcJ5B3


C.  is an intensive property while  of cell reaction

is an extensive property

D.  is an extensive property while  of cell reaction

is an intensive property

Answer:

Watch Video Solution

Ecell ΔfG

Ecell ΔrG

4. The difference between the electrode potentials of two

electrodes when no current is drawn through the cell is

called:

A. cell potential

B. cell emf

https://dl.doubtnut.com/l/_4Kco86lcJ5B3
https://dl.doubtnut.com/l/_UmNz9BOTurlt


C. potential difference

D. cell voltage

Answer: B

Watch Video Solution

5. Which of the following statement is not correct about an

inert electrode in a cell? 

(a) It does not participate in the cell reaction.


(b) It provides surface either for oxidation or for reduction

reaction.


(c) It provides surface for conduction of electrons.


(d) It provides surface for redox reaction.

A. It does n ot participate in the cell reaction

https://dl.doubtnut.com/l/_UmNz9BOTurlt
https://dl.doubtnut.com/l/_DPtouqQGbf6G


B. It provides surface either for oxidation or for reduction

reaction

C. It provides surface for conduction of electrons

D. It provides surface for redox reaction.

Answer:

Watch Video Solution

6. An electrochemical cell an behave like an electrolytic cell

when

A. 

B. 

C. 

Ecell = 0

Ecell > Eext

Eext > Ecell

https://dl.doubtnut.com/l/_DPtouqQGbf6G
https://dl.doubtnut.com/l/_Vp4kIkcaO420


D. 

Answer:

Watch Video Solution

Ecell = Eext

7. Which of the statements about solution of electrolytes is

not correct?

A. Conductivity so solution depends upon size of ions

B. conductivity depends upon viscosity of solution

C. Conductivity does not depend upon solvation of ions

present in solution.

D. Conductivity of solution increases with temperature

https://dl.doubtnut.com/l/_Vp4kIkcaO420
https://dl.doubtnut.com/l/_DXvFbxw8rvCN


Answer:

Watch Video Solution

8. Using the data given below: 

 


 


Mark the strongest reducing agent.

A. 

B. 

C. 

D. 

Answer:

E ∘
Cr2O2 −

7 ∣Cr3 +
= 1.33V E ∘

Cl2 ∣Cl − = 1.36V

E ∘
MnO−

4 ∣Mn2 + = 1.51V ECr3 + ∣Cr = − 0.74V

Cl−

Cr

Cr3 +

Mn2 +

https://dl.doubtnut.com/l/_DXvFbxw8rvCN
https://dl.doubtnut.com/l/_uoD8fLnrAuxr


Watch Video Solution

9. Given  


Among the following, the strongest reducing agent is

 


 


Based on the data given above strongest oxidising agent will

be

A. 

B. 

C. 

D. 

Answer:

h id l i

E ∘
Cr2O2 −

7 / Cr3 +
= 1.33V , E ∘

MnO−
4 / Mn2 + = 1.51V

E ∘
Cr3 + / Cr

= − 0.74V x, E ∘
MnO−

4 / Mn2 + = 1.51V

E ∘
Cr2O2 −

7 / Cr3 +
= 1.33V , E ∘

Cl / Cl − = 1.36V

Cl−

Mn2 +

MnO
−
4

Cr3 +

https://dl.doubtnut.com/l/_uoD8fLnrAuxr
https://dl.doubtnut.com/l/_LXRq5TxH8SMW


Watch Video Solution

10. Using the data given below: 

 


 


In which option the order of reducing power is correct?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

E ∘
Cr2O2 −

7 ∣Cr3 +
= 1.33V E ∘

Cl2 ∣Cl − = 1.36V

E ∘
MnO−

4 ∣Mn2 + = 1.51V ECr3 + ∣Cr = − 0.74V

Cr3 + < Cl− < Mn2 + < Cr

Mn2 + < Cl− < Cr3 + < Cr

Cr3 + < Cl− < Cr2O
2 −
7 < MnO

−
4

Mn2 + < Cr3 + < Cl− < Cr

https://dl.doubtnut.com/l/_LXRq5TxH8SMW
https://dl.doubtnut.com/l/_rXR297Ywzt3M
https://dl.doubtnut.com/l/_gV77GJzED2s1


11. Use the data given in Q.8 and find out the most stable ion

in its reduced form.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Cl−

Cr3 +

Cr

Mn2 +

12. Using the data given below: 

 
E ∘
Cr2O2 −

7 ∣Cr3 +
= 1.33V E ∘

Cl2 ∣Cl − = 1.36V

https://dl.doubtnut.com/l/_gV77GJzED2s1
https://dl.doubtnut.com/l/_BjxKrBsYJ74H


 


Find the most stable oxidised species.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

E ∘
MnO−

4 ∣Mn2 + = 1.51V ECr3 + ∣Cr = − 0.74V

Cr3 +

MnO
−
4

Cr2O
2 −
7

Mn2 +

13. The quantity of charge required to obtain one mole of

aluminium from  is

A. 1F

Al203

https://dl.doubtnut.com/l/_BjxKrBsYJ74H
https://dl.doubtnut.com/l/_dSVxIkvB2hbN


B. 6F

C. 3F

D. 2F

Answer:

Watch Video Solution

14. The cell constant of a conductivity cell

A. chagnes with chagne of electroyte

B. Changes with chagne of concentration of electrolyte

C. chagnes with temperature of electrolyte

D. remains cosntant for a cell

https://dl.doubtnut.com/l/_dSVxIkvB2hbN
https://dl.doubtnut.com/l/_uFI3A7S0ctZR


Answer:

Watch Video Solution

15. While charging the lead storage battery: 

(a)  anode is reduced to Pb



(b)  cathode is reduced to Pb



(c)  cathode is oxidised to Pb



(d)  anode is oxidised to 

A.  anode is reduced to Pb

B.  cathode is reduced to Pb

C.  cathode is oxidised to Pb

D.  anode is oxidised to 

PbSO4

PbSO4

PbSO4

PbSO4 PbO2

PbSO4

PbSO4

PbSO4

PbSO4 PbO2

https://dl.doubtnut.com/l/_uFI3A7S0ctZR
https://dl.doubtnut.com/l/_Zc5xi8pk3d1F


Answer:

Watch Video Solution

16.  is equal to 

(a) 



(b) 



(c) 



(d)

A. 

B. 

C. 

D. 

∧o
m( NH4OH )

Λ ∘
m(NH4OH) + Λ ∘

m(NH4Cl) − Λ ∘
( HCl )

Λ ∘
m(NH4Cl) + Λ ∘

m(NaOH) − Λ ∘
( NaCl )

Λ ∘
m( NH4Cl )

+ Λ ∘
m( NaCl )

− Λ ∘
( NaOH )

Λ ∘
m( NaOH )

+ Λ ∘
m( NaOH )

+ Λ ∘
m( NaCl )

− Λ ∘
( NH4Cl )

Λ ∘
m(NH4OH) + Λ ∘

m(NH4Cl) − Λ ∘
( HCl )

Λ ∘
m(NH4Cl) + Λ ∘

m(NaOH) − Λ ∘
( NaCl )

Λ ∘
m( NH4Cl )

+ Λ ∘
m( NaCl )

− Λ ∘
( NaOH )

Λ ∘
m( NaOH )

+ Λ ∘
m( NaOH )

+ Λ ∘
m( NaCl )

− Λ ∘
( NH4Cl )

https://dl.doubtnut.com/l/_Zc5xi8pk3d1F
https://dl.doubtnut.com/l/_xVDsmaf50yiQ


Answer:

Watch Video Solution

17. In the electrolysis of aqueous sodium chloride solution

which of the hall cell reaction will occur at anode?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Na + (aq) + e − → Na(s) : E ∘
cell

= − 2.71V

2H2O(l) → O2(g) + 4H + (aq) + 4e − E ∘
cell

− 123V

H + (aq) + e − → H2(g) : E ∘
cell

= 0.00V
1

2

Cl− (aq) → Cl2(g) + e − , E ∘
cell

= 1.36V
1

2

https://dl.doubtnut.com/l/_xVDsmaf50yiQ
https://dl.doubtnut.com/l/_hEfm4luGkL4L
https://dl.doubtnut.com/l/_N4zBpn2CqTKc


18. The positive value of the standard electrode potential of

 indicates that.......

A. this redox couple is a stronger reducing agent than

the  couple

B. this redox displace  from acid

C. Cu cannot displace  from acid

D. Cu cannot displace  from acid

Answer:

Watch Video Solution

Cu2 + /Cu

H + /H2

H2

H2

H2

19. Potential for some half cell reactions are given below. On

the basis of these mark the correct answer. 

https://dl.doubtnut.com/l/_N4zBpn2CqTKc
https://dl.doubtnut.com/l/_CKfcUcIsSTd7


(i)   


(ii) ,  


(iii) 

A. (a) In dilute sulphuric acid solution, hydrogen will be

reduced at cathode

B. (b) In concentrated sulphuric acid solution, water will

be oxidised at anode

C. (c) In dilute sulphuric acid solution water will be

oxidised at anode

D. (d) In dilute sulphuric acid solution  ion will be

oxidised to tetrahionate ion at anode.

Answer:

Watch Video Solution

H + (aq) + e − → ( )H 2(g)
1

2
E ∘

cell
= 0.00V

2H2O(l) → O2(g) + 4H + (aq) + 4e − Ecell = 1.23V

2SO2 −
4

(aq) → S2O2 −
8 (aq) + 2e − , E ∘

cell
= 1.96V

SO2 −
4

https://dl.doubtnut.com/l/_CKfcUcIsSTd7


20.  for Daniel cell. Which of the following

expressions are correct description of state of equilibrium in

this cell?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

E ∘
cell

= 1.1V

1.1 = kc

logkc = 1.1
2.303RT

2F

logkc =
2.2

0.059

logkc = 1.1

21. Conductivity of an electrolytic solution depends on:

https://dl.doubtnut.com/l/_CKfcUcIsSTd7
https://dl.doubtnut.com/l/_haG7sL8yjsUT
https://dl.doubtnut.com/l/_hEgx5qqaF50O


A. nature of electrolyte

B. concentration of electrolyte

C. power of AC source

D. distance between the electrodes.

Answer:

Watch Video Solution

22.  is equal to:

A. 

B. 

C. 

D. 

Λ ∘
mH2O

Λ ∘
m( HCl )

+ Λ ∘
m( NaOH )

− Λ ∘
m( NaCl )

Λm( HNO3 )
∘

+ Λ∘
m( NaNO3 )

− Λ ∘
m( NaOH )

Λ ∘
m( HNO3 )

+ Λ ∘
m( NaOH )

− Λ ∘
m( NaNO3 )

Λ ∘
m( NH4OH )

+ Λ ∘
m( HCl )

− Λ ∘
m( NH4Cl )

https://dl.doubtnut.com/l/_hEgx5qqaF50O
https://dl.doubtnut.com/l/_vLWRsrnOxrRw


Answer:

Watch Video Solution

23. What will happen during the electrolysis of aqueous

solution of  by using platinum electrodes?

A. Copper will deposit at cathode

B. Copper will deposit at anode

C. Oxygen will be released at anode

D. Copper will dissolve at anode

Answer:

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_vLWRsrnOxrRw
https://dl.doubtnut.com/l/_xBtD7GuTyWjH
https://dl.doubtnut.com/l/_BFj9FG9UVEeV


24. What will happen during the electrolysis of aqu eous

solution of  in the presence of Cu electrodes?

A. Copper will deposit at cathode

B. Copper will disolve at anode

C. Oxygen will be released at anode

D. Copper will deposit at anode

Answer:

Watch Video Solution

CuSO4

25. Conductivity k, is equal to ......

A. 
1

R

l

A

https://dl.doubtnut.com/l/_BFj9FG9UVEeV
https://dl.doubtnut.com/l/_bgglUas916bd


B. 

C. 

D. 

Answer:

Watch Video Solution

G ⋅

R

Λm

l

A

26. Molar conductivity of ionic solution depends on ........

A. temperature

B. distance between electrodes

C. concentration of electrolysis in solution

D. surface area of electrodes

https://dl.doubtnut.com/l/_bgglUas916bd
https://dl.doubtnut.com/l/_QL3PRpFiuTGW


Answer:

Watch Video Solution

27. For the given cell, 



(a)Mg is cathode 

(b)Cu is cathode


(c)The cell reaction is 



(d)`Cu is the oxidising agent

A. Mg is cathode

B. Cu is cathode

C. The cell reation is 

D. `Cu is the oxidisng agent

Mg∣∣Mg2 + ∣∣∣∣Cu2 + ∣ Cu

Mg + Cu2 + → Mg2 + + Cu

Mg + Cu2 + → Mg2 + + Cu

https://dl.doubtnut.com/l/_QL3PRpFiuTGW
https://dl.doubtnut.com/l/_UHBWNX1aPKiQ


Answer:

Watch Video Solution

28. Can absolute electrode potential of an electrode be

measured?

Watch Video Solution

29. Can  or  for cell reaction ever be equal to zero?

Watch Video Solution

E ∘
cell

ΔrG
∘

30. Under what condition is  or ?

Watch Video Solution

E ∘
cell

= 0 ΔrG = 0

https://dl.doubtnut.com/l/_UHBWNX1aPKiQ
https://dl.doubtnut.com/l/_nGosBn4FXy42
https://dl.doubtnut.com/l/_ql8on8DBXbJy
https://dl.doubtnut.com/l/_OwNLrLkBRAHO


Watch Video Solution

31. What does the negative sign in the expression

 mean?

Watch Video Solution

E ∘
Zn2 + / Zn

= − 0.76V

32. Aqueous copper sulphate solution and aqueous silver

nitrate solution are electrolysed by 1 ampere current for 10

minutes in separate electrolytic cells. Will the mass of copper

and silver deposited on the cathode be same of different?

Explain your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_OwNLrLkBRAHO
https://dl.doubtnut.com/l/_OgDutCBD2Wqo
https://dl.doubtnut.com/l/_M9UGcMjAU4v5


33. Depict the galvanic cell in which the cell reaction is 

Watch Video Solution

Cu + 2Ag + → 2Ag + Cu2 +

34. Value of standard electrode potential for the oxidation of

 ions is more positive than that of water, even then in

the electrolysis of aqueous sodium chloride, why is 

oxidsied at anode instead of water?

Watch Video Solution

Cl−

Cl−

35. What is electrode potential?

Watch Video Solution

https://dl.doubtnut.com/l/_HzJrsE0q571G
https://dl.doubtnut.com/l/_JOVUwRGHOmWZ
https://dl.doubtnut.com/l/_UbUxTd6ZWAfw


36. Consider the following diagram in which an

electrochemical cell is coupled to an electrolytic cell. What

will be the polarity of electrodes 'A' an d 'B' in the electrolytic

cell? 

Watch Video Solution

37. Why is alternating current used for measuring resistance

of an electrolytic solution?

https://dl.doubtnut.com/l/_UbUxTd6ZWAfw
https://dl.doubtnut.com/l/_YwbpICQ5Wxa8
https://dl.doubtnut.com/l/_m5Dx0sshWUPi


Watch Video Solution

38. A galvanic cell has an electrical potential of 1.1V. If an

opposing potential of 1.1 V is applied to this cell, what will

happen to the cell reaction and current flowing through the

cell?

Watch Video Solution

39. How will the pH of brine (aq NaCl solution) be affected

when it is electrolysed.

Watch Video Solution

https://dl.doubtnut.com/l/_m5Dx0sshWUPi
https://dl.doubtnut.com/l/_RIYEZ2QzjXs6
https://dl.doubtnut.com/l/_6C3xb3GY3X7u


40. Unlike dry cell, the mercury cell has a constant cell

potential throughout its useful life, why?

Watch Video Solution

41. Solutions of two electrolytes A and B are diluted. The 

of 'B' increases 1.5 times while that of A increases 25 times.

Which of the two is a strong electrolyte? Justify your answer.

Watch Video Solution

Λm

42. When acidulated water (dil.  solution) is

electrolysed, will pH of the solution be affected? Justify your

answer.

W t h Vid S l ti

H2SO4

https://dl.doubtnut.com/l/_Ocex0wmjQ9Vl
https://dl.doubtnut.com/l/_3m2T7Owouxeg
https://dl.doubtnut.com/l/_Z5TmTHJd3QIl


Watch Video Solution

43. In an aqueous solution how does specific conductivity of

electrolytes change with addition of water?

Watch Video Solution

44. Which reference electrode is used to measure the

electrode potential of other electrodes?

Watch Video Solution

45. Consider a cell given below. 

 


Write the reactions that occur at anode and cathode.

Cu∣∣Cu2 + ∣∣∣∣Cl− ∣∣Cl2. Pt

https://dl.doubtnut.com/l/_Z5TmTHJd3QIl
https://dl.doubtnut.com/l/_Hx8lmHY8hBhp
https://dl.doubtnut.com/l/_N8d3WZYQi9N8
https://dl.doubtnut.com/l/_Q1LXbP5DaLow


Watch Video Solution

46. Write the Nernst equation for the cell reaction in the

Daniel cell. How will the  be affected when concentration

of  ions is increased?

Watch Video Solution

Ecell

Zn+

47. What advantage do the fuel cells have over primary and

secondary batteries?

Watch Video Solution

48. Write the cell reaction of a lead storage battery when it

is discharged. How does the density of the electrolyte

https://dl.doubtnut.com/l/_Q1LXbP5DaLow
https://dl.doubtnut.com/l/_CIhFaG8JpxAq
https://dl.doubtnut.com/l/_j6rAzDKfeGet
https://dl.doubtnut.com/l/_LHNXXMf1WUz2


change when the battery is discharged?

Watch Video Solution

49. Why on dilution the  of  increases

drastically, while that of  increases gradually?

Watch Video Solution

Λm CH3COOH

CH3COONa

50. Match the terms given in column I with the units given in

column II. 

W t h Vid S l ti

https://dl.doubtnut.com/l/_LHNXXMf1WUz2
https://dl.doubtnut.com/l/_9p555wVAnU7l
https://dl.doubtnut.com/l/_wOiHMfRYqj8g


Watch Video Solution

51. Match the terms given in Column I with the items given in

Column II. (One to one match only)

Watch Video Solution

52. Match the items of Column I and Column II. 

Watch Video Solution

https://dl.doubtnut.com/l/_wOiHMfRYqj8g
https://dl.doubtnut.com/l/_Rvmbj2a6MqNO
https://dl.doubtnut.com/l/_zTefRI41Cv3y


53. Match the items of Column I and Column II. 

Watch Video Solution

https://dl.doubtnut.com/l/_zTefRI41Cv3y
https://dl.doubtnut.com/l/_3YHewfqZNpJC


54. Match the items of Column I and Column II. 

Watch Video Solution

55. Match the items of Column I and Column II on the basis

of data given below: 

(One to one match only) 

 = 2.87 V,  = -3.5 V, 
E ∘
F2 ∣F − ELi+ ∣ ( Li )

https://dl.doubtnut.com/l/_oMtaObXWLX5A
https://dl.doubtnut.com/l/_zNj8VGqOtacM


 = 1.4 V,  = 1.09V 


Watch Video Solution

E ∘
Au3 + ∣Au

E ∘
Br2 ∣Br−

56. Assertion(A) Cu is less reactive than hydrogen. 

Reason(R)  is negative.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

E
⊕

Cu2 + / Cu

https://dl.doubtnut.com/l/_zNj8VGqOtacM
https://dl.doubtnut.com/l/_kWP07gNkiAhq


B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

57. Assertion (A)  should have a positive value for the cell

to function, 

Reason(R) 

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

Ecell

Ecathode < Eanode

https://dl.doubtnut.com/l/_kWP07gNkiAhq
https://dl.doubtnut.com/l/_EPgWDz2VFKNa


B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

58. Assertion (A) Conductivity of all electrolytes decreases on

dilution. 

Reason(R) On dilution number of ions per unit volume

decreases.

https://dl.doubtnut.com/l/_EPgWDz2VFKNa
https://dl.doubtnut.com/l/_w0KZlnJ9o6Hb


A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

59. Assertion(A)  for weak electrolytes shows a sharp

increase when the electrolytic solution is diluted. 

Reason(R) For weak electrolytes degree of dissociation

increases with dilution of solution. 

Λm

https://dl.doubtnut.com/l/_w0KZlnJ9o6Hb
https://dl.doubtnut.com/l/_HFrdLFssCL9k


(a) Both assertion and reason are true and the reason is the

correct explanation of assertion.


(b) Both assertion and reason are true and reason is not the

correct explanation of assertion.


(c) Assertion is true but the reason is false.


(d) Both assertion and reason are false.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_HFrdLFssCL9k


Watch Video Solution

60. Assertion(A) Mercury cell does not give steady potential 

Reason (R) In the cell reaction, ions are not involved in

solution.


(a) Both assertion and reason are true and the reason is the

correct explanation of assertion.


(b) Both assertion and reason are true and reason is not the

correct explanation of assertion.


(c) Assertion is false but the reason is true. 

(d) Both assertion and reason are false.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

https://dl.doubtnut.com/l/_HFrdLFssCL9k
https://dl.doubtnut.com/l/_YzQAIxCsmivd


B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

61. Assertion(A) Electrolysis of NaCl solution gives chlorine at

anode instead of . 

Reason(R) Formation of oxygen at anode requires over

voltage.

O2

https://dl.doubtnut.com/l/_YzQAIxCsmivd
https://dl.doubtnut.com/l/_JsvlcNSnhnsA


A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

62. Assertion(A) For measuring resistance of an ionic

solution an AC source is used. 

Reason (R) Concentration of ionic solution will change if DC

source is used. 

https://dl.doubtnut.com/l/_JsvlcNSnhnsA
https://dl.doubtnut.com/l/_5MKHS5AzMJZq


(a) Both assertion and reason are true and the reason is the

correct explanation of assertion.


(b) Both assertion and reason are true and reason is not the

correct explanation of assertion.


(c) Assertion is true but the reason is false. 

(d) Both assertion and reason are false.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_5MKHS5AzMJZq


Watch Video Solution

63. Assertion(A) Current stops flowing when  . 


Reason(R) Equilibrium of the cell reaction is attained.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

Ecell = 0

https://dl.doubtnut.com/l/_5MKHS5AzMJZq
https://dl.doubtnut.com/l/_IbP5n8fJrLFL
https://dl.doubtnut.com/l/_IFkazdkxDN8E


64. Assertion(A)  increase with increase in

concentration of  ions. 


Reason(R)  has a positive value.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

D. Both assertion and reason are false.

Answer:

Watch Video Solution

EAg + / Ag ∘

Ag +

EAg + / Ag

https://dl.doubtnut.com/l/_IFkazdkxDN8E
https://dl.doubtnut.com/l/_ZtA3j95HUqGt


65. Assertion (A) Copper sulphate can be stored in zinc

vessel. 

Reason(R) Zinc is less reactive than copper. 

(a) Both assertion and reason are true and the reason is the

correct explanation of assertion.


(b) Both assertion and reason are true and reason is not the

correct explanation of assertion.


(c) Assertion is true but the reason is false. 

(d) Both assertion and reason are false.

A. Both assertion and reason are true and the reason is

the correct explanation of assertion.

B. Both assertion and reason are true and reason is not

the correct explanation of assertion.

C. Assertion is true but the reason is false.

https://dl.doubtnut.com/l/_ZtA3j95HUqGt


D. Both assertion and reason are false.

Answer:

Watch Video Solution

66. Consider the figure and answer the following question. 

 

(i) Cell 'A' h as  and Cell 'B' has  which

of the two cell 'A' or 'B' will act as an electrolytic cell. Which

electrode reactions will occur in this cell? 

Ecell = 2V Ecell = 1.1V

https://dl.doubtnut.com/l/_ZtA3j95HUqGt
https://dl.doubtnut.com/l/_u5OHz3DU4utJ


(ii) If cell 'A' has  0.5V and cell 'B' has =1.1V then

what will be the reactions at anode and cathode?

Watch Video Solution

Ecell = Ecell

67. Consider figure from the above question and answer the

questions (i) to (vi) given below. 

 

(i) Redraw the diagram to show the direction of electron

flow. 

(ii) Is silver plate the anode or cathode? 

(iii) what will happen it salt bridge is removed? 

(iv) When will the cell stop functining? 

https://dl.doubtnut.com/l/_u5OHz3DU4utJ
https://dl.doubtnut.com/l/_WrBCxCjPUh1F


( v) How will concentration of  ions and  ions be

affected when the cell function? 

(vi) How will the concentration of  ions and  ions

be affected after the cell becomes dead?

Watch Video Solution

Zn2 + Ag +

Zn2 + Ag +

68. What is the relationship between Gibbs free energy of

the cell reaction in a galvanic cell and the emf of the cell?

When will the maximum work be obtained from a galvanic

cell? When will the maximum work be obtained from a

galvanic cell?

View Text Solution

https://dl.doubtnut.com/l/_WrBCxCjPUh1F
https://dl.doubtnut.com/l/_HDQ0G2JURwRn

